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Candidates must write the Code on 
the title page of the answer-book. 
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m-~ if~~ ctt :il<: ~ <ro: em-~ cit oo am-~ it; :ps-rp3 ll( ~ 1 
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10.15 ~ fcli<rr ~ I 10.15 ~ i1" 10.30 ~ (1Cii 00 m W-~ Cbl ~ ~ 

~ arqf'tl" it; Gim if am-~ 1R ~am::®~ 1 

Please check that this question paper contains 16 printed pages . 
Code· number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 
Please check that this question paper contains 34 questions . 
Please write down the Serial Number of the question before 
attempting it. 
15 minutes time has qeen allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer 
on the answ\)r-book during this period. 

~(f.)fftd t:Rtarr - II 

SUMMATIVE ASSESSMENT - II 

II fOld 

MATHEMATICS 

Time allowed : 3 hours Maximum Marks : 80 
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'Rl1lPI f.rW : 

(i) W JtR :#rcwf ~ I 

(iiJ rtr J{R- rr:r if 34 JtR ~ it T'fP: &uiT - ar, .., rr m r,r if Fcri//Ntd ~ , 
(iiiJ "{!fUg ar if ~-~ m em# 1o JtR ~ it org-~ JtR ~ 1 · (91lg if if 

s m ~· ff;r;rif. it. mifq; 2 m q;r # 1 (ffTJg rr if 1 o m rft;r. rfl;r .wit it 
~ r "{!fUg r,r if 6 m ~· r;rwt it vritCfi 4 m q;r # 1 

(iuJ ¥7 m- rr:r if it{ ~ ~ # 1 <mfi:r 2 m em# !f!l' m if, 3 m em# 
rft::r w if [f?!f 4 m em# rft m if 31RffiJF ~ fi:.r!: ~ ~ 1 · 

(v) 4>&jfk< <6! m ciffra ~ I 

General Instructions : 

1. 

30/2 

(i) All questions are compul~ory. 

(ii) The question paper consists of 34 questions divided into four 
sections - A, B, C and D. 

(iii) Section .A contains 10 questions of 1 mark each, which are 
multiple. choice type questions, Section B contains .8 questions of · 
2 marks each, Section C c()ntains 10 questions of 3 marks each 
and Section D contains 6 questions of 4 marks each. 

(iv) . There is no overall choice in the paper. However, internal choice is 
provided in one question of 2 marks, three questions of 3 marks 
and two questions of 4 marks. 

(v) Use of calculators is not permitted. 

\illS 31' 

SECTION A· 
m m 1 it 10 (fifi vritCfi m 1 m q;r # 1 m m 1 it 10 if vritCfi ·WR it 
frrrl: rrP: ~ fi:.rJ: 'Iff!: ~ ff;r;rif it ~ · If$ rr{r # I rr{r ~ ~ I 
Question numbers 1 to 10 carry 1 mark each. For each of the questions 
number 1 to 10, four alternative choices have been provided, of which only 
one is correct. Select the correct choice. 

~ (- 3, 4) ';tt x-3W ~ ~ ~ 
(A) 3 

(B) 3 

(C) 4 

(D) 5 

2 
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The distance of the point (- 3, 4) from the x-axis is 

(A) 3 

(B) -3 

(C) 4 

(D) 5 

2. • 111', AP, AQ ~ BC ~ ctt ~ ~ ~ I ~ AB = 5 iPit, AC = 6 Wit 
~ BC = 4 iPft ~' m AP 'hl ~ (iPft lT) ~ 

(A) 7·5 

(C) 10 

A 

(B) 15 

(D) 9 

In Figure 1, AP, AQ and BC are tangents to the circle. If AB = 5 em, 
AC = 6 em and BC = 4 em, then the length of AB (in em) is 

A 

Figure 1 

(A) 7-5 (B) 15 

(C) 10 (D) 9 
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s. . ~ ~ .q: q;yt ~ m -q{ 2, 3, 4, ... , n • ~ ~ , ~ .q: it <~l~i%§<~1 ~ 
q;yi f.rq;Tffi Tf<lT ~ 1 ~ -rro; q;yi -q{ ~ ~ m ~ qft lliM<Iidl ~ 

(A) 

(B) 

(C) 

(D) 

1 

2 

2 

5 

3 

10 

5 

9 

Cards bearing numbers 2, 3, 4, ... , 11 are kept in a bag. A card is 
drawn at random from the bag. The probability of getting a card with 
a prime number is 

(A) 
1 

2 

(B) 
2 
-

5 

(C) 3 

10 J 

(D) 
5 

9 

4. ~ Tf it ~ 'ft 13 Wft ¢ 'If{ ~ ~ ~ Q 'ft Tf 'If{ ~ ~ mt U9r 
PQ qft ~ 12 Wft ~ I Tf qft M CWft it) ~ 

(A) 25 

(B) .J313 

(C) 5 

(D) 1 
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From a point Q, 13 em away from the centre of a circle, the length 
of tangent PQ to the circle is 12 em. The radius of the circle (in em) 
is 

(A) 25 

(B) J313 

(C) 5 

(D) 1 

5. * ~ "Bl!im: ~ 'liT ncU 'I:J<:: (2n + 1) t m ~ >12fl1 <ft;r ~ 'liT ~ t 
(A) 6n + 3 

) (B) 15 

(C) 12 

(D) 21 

If the nth term of an A.P. is (2n + 1), then the sum of its first three 
terms is 

(A) 6n + 3 . 

(B) 15 

(C) 12 

(D) 21 

6. futlm. *liJl<Wi 2x2 - X - 6 = 0 ~ ~ ~ 

(A) -2, 3/2 

(B) 2,-3/2 

(C) -2,-3/2 

(D) 2, 3/2 

The roots of the quadratic equation 2x2 
- x 6 = 0 are 

· (A) -2, 3/2 

(B) 2,-3/2 

(C) -2,-3/2 

(D) 2, 3;2 
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7. • 2 if, ~ P(5, 3) "W-IT Q(3, y), ~aff A(7, - 2) "W-IT B(l, 5) 'liT ~ 
~ {@I@Os <fit ~ ·crnr ~ 1 m Y 'iif\TilR. ~ 

30/2 

A P Q B 

31Tififrr2 

(A) 2 

(B) 4 

(C) -4 

(D) 5 
2 

In Figure 2, P(5, - 3) and Q(3, y) are the points of trisection of the 
line segment joimng A(7, - 2) and B(l, 5). Then y equals 

A 

(A) 2 

(B) 4 

(C) 

(D) 

(A) 

(B) 

(C) 

(D) 

-4 

5 
2 

77 
-
2 

77 
4 

77 
8 

77 
16 

p Q .B 

Figure 2· '· 

"'--
\:)" 

' 

6 

•. 
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'. 9. 
i 

The circumference of a circle is 22 em. The area of its quadrant (in cm2
) ' 

is 

(A) 
77 
2 

(B) 77 
4 

(C) 
77 
8 

(D) 
77 
16 

~ -am ~~~<it~~ i1i •ihn<ilil it~~, ~ i1i ~ i1i 
wffiR ~ iffi IDU (\) 1:Jl1Ti if 'liiZT 1f<ld I ~ WiiR l!l1:{f ~ ~ i1; ~ iN ~ 
~ i1; ~ it ar:rmr t 
(A) 1: 2 

(B) 1 : 4 

(C) 1 : 6 

(D) 1 : 8 

A solid right circular cone is cut into two parts at the middle of its 
height by a plane parallel to its base. The ratio of the volume of the 
smaller cone to the whole cone is 

(A) 1 : 2 

(B) 1: 4 

(C) 1 : 6 

(D) 1 : 8 

10. ~ cffiir ~ it 3o -.rr. <tt ~ 1R 6o m. ~ m <tt ~ it ~ ~ w 1 ~· 
m;ffi ~ ~ iR1 it ~ -im -;@ ~) cffiir iN ~q 1R ~ <itur t 

(A) 45• 

(B) 30° 

. (C) 60° 

(D) goo 
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A kite is flying at a height of 30 m from the ground. The length' of string 
from· the kite to the ground is 60 m .. Assuming that there is no slack in 
the string, the angle of elevation of the kite. a.t the ground is 

(A) 45° 

(B) 30° 

(C) 60° 

(D) goo 
'{!~'US at 

SECTION B 

m ifw.rr 11 it 18 'ff'li m m ~ 2 afcl; t I 
Question number~ 11 to 18 carry 2 marks each. 

n. 52 1«<T ·Cb't ~ m it ~ 1Jt \'1m <lit 't% ~ ii it l.li~~F'll 't% 'ffiT f.rcfirffi 
TflTI I lll Mi'fld I ~ ~ fc!; f.Tcf;rffi TflTI \ffiT 

(i) ~ trl i'flT ~ ~ I 

(ii) 't;<li ~ 3N<TI :Jffil1 ~ I 

A card is drawn at random from a well-shuffled pack of 52 cards. Find the 
probability of getting 

(i) a red king. 

(ii) a queen or a jack. 

12. • 3 ii, 't% ~ ~ ABC, r ~ ~ ~ ~ 'IWm ilRT ~ I <m; AB 

\1~ BC Cb't ~ ~ 8 Wit \1~ 6 Wit ~' m r i'flT 'J.'fR ~ ~ I 

A 

c 

30/2 8 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



In Figure 3, a right triangle ABC, circumscribes a circle of radius r. 
If AB and BC are of lengths 8 em and 6 em respectively, find the 
value of r. 

A 

.. 
c 

Figure 3 

13. • 4 if, ABCD, 4 WIT ~ qrc;rr ~ crt ~ I crt ~ ~ ~ '« 1 WIT ~ 
~ ern q;r ~ ~ l]"llf, 'ff2fT 2 Wit C<jffi' q;r ~ ern '41 ~ l'j<Jf ~ ' 01<~ifr.ha 
'lWT q;r ~~~I (n = 3·14 ~) 

30/2 

D C 

. ' . 

~ <tl 6llllctlifil( 3l'1'ifiR <tl ~ ~ ABCD, ~ AB = 40 Wit ~AD = 28 WIT 
~, if ~ BC Cfit fl!rn ll"RCii\ ~ ~ 'lWT <lilZ fur<rr ~ ~ I iJ'l ~ ~ q;r 

~~~1(1t=22~) 
7 

9 P.T.O. 
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In Figure 4, ABCD is a square of side 4 em. A quadrant of a circle of 
radius 1 em is dra"!n at each vertex of the square and a circle of diameter 
2 em is also drawn. Find the area of the shaded .region. (Use n: = 3·14) 

D C 

Figure 4 
... oR 

From a rectangular sheet of paper ABCD with AB = 40 em and 
AD = 28 em, a semi-circular portion with BC as diameter is cut off. Find 

the area of the remaining paper. (Use n = 
22 

) 
7 

14. 'lft:: ~ P(2, 4), ~an A(5, k) "ffi'.IT B(k, 7) iT W1R ~ 1R t ill k 'liT +iR mn 
~I 
Find the value of k, if the point P(2, 4) is equidistant from the points 
A(5, k) and B(k, 7). 

15. ~ ~ f<fi m:it ~ ~ ~ Clfffi ~ fuU 1R ~ ~ ~ Ugnt wrtnn?rill ~ 1 
' \ 

Prove that the tangents drawn at the ends of a .Jlia;meter of a circle 
are parallel. 

" 
16. 10·5 Wit ~ ~ ~ om ~ cfit ~ cg ml om . ~ ;;r.:rro: l!Q;, ~ ~ 

qit ~ 3·5 WU "ffi'.IT ~ 3 Wft W I ~« !lCfiR oft ~ qit m ~ ~ I 
22~ (n: = - <:111~1~) 
7 

A solid sphere of radius 10·5 em is melted and recast into smaller solid 
cones, each of radius 3·5 em and height 3 em. Find the number of .cones 

22 
so formed. (Use 11: = --) 

7 

17. k q;r ~ l=!R mn ~~fu-r; f14lill{"l kx (3x- 4) + 4 = o ~ ~ m ~ 1 
Find the value of k for which the roots of the equation 
kx (3x- 4) + 4 = 0, are equaL 

18. \iR. a;'<!it 'Cflffi fc!;n;:ft ~ 11 iT ~ ~ ? 

How many three-digit numbers are divisible by 11 ? 
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l9TJS"H 

SECTIONC 
m ~ 19 it 28 ffi?i ~ m eli 3 *' ~ 1 
Question numbers 19 to 28 carry 3 marks each. 

19. ~ 5 ll, !!. PQR, ~ PQ = 10 W, QR = 8 w om PR = 12 Wft t, ~ 
3trfo ~ ~ <R1<lT 1J<IT t I QM, RN (f2IT PL <tt ~ "$f ~ I . 

p 

L 

Q L-..::'-+-':::..______, R 
M 

~5 
In Figure 5, a circle is inscribed in a triangle PQR with PQ :::: 10 em, 
QR = 8 em and PR = 12 em, Find the lengths QM, RN and PL. 

p ' 

Figure 5 

20. ~ 6 ll, 0 <[tr "ilil ~ ~ ~ AC = 24 W, AB = 7 W (f2IT L BOD = 90° 
~ I 01'lif<lid ~ "ilil ~ ~ ~ I [n: = 3· 14 ~] 

A 

B 
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~ 7 iT, <!R ABCD ~ crf ~~ ~ :prr 14 WIT ~ ~ APD am BPC <:! 
~· ~~ m 0!4ifili(l ~ Cfil ~ ~ ~ 1 

A B 

~7 

In Figure 6, 0 is the centre of the circle with AC = 24 em, AB == 7 em 

and L BOD == 90°. Find the area of the shaded region. 
[Use rc = 3·14] 

30/2 

c 

Figure 6 
OR 

In Figure 7, find the area of the shaded region, if ABCD is a square 
of side 14 em and APD and BPC are semicircles. 

Figure 7 

12 
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9 wrr ~ f;r;<rr cm;rr ~ 31'1'f•n 1.11 Cfll{ "'*r, 11Rt B 1Rf ~ 1 ~ 11RI" cn1 6 wrr 
3ffimCfl f;r;<rr ~ ~ ~ <.1 'liCfll'( <KR .q Sfffi 1f1IT I ~ <.1 'll Cfll{ offi1 .q cy;ft c6t ~ 
~~I 

' 
A hemispherical bowl of internal radius 9 em is full of water. Its 
contents are emptied in a cylindrical vessel of internal radius .6 em. 
Find the height of water in the cylindrical vessel. 

22. 60 J3 111. i'fft ~ ~ c6t ~ B ~ 1lRR ~ fm9\ rrm 1l1G ~ 31cRlH C!lTur 

~ 45° ~ 60° ~ I B qit ~ ~ ~ I 

The angles of depression of the top and bottom of a tower as seen 

from the top of a 60.J3 m high cliff are 45o and 60° respectively. 
Find the height of the tower. 

23. ~an A(- 2,- 2) rrm B(2, - 4) cn1 fl:r<.1T2t ~ {@@Os en: ~ ~ ~ P ~ ~ 

~~. fc!iAP=~AB"?f I 
7 

~ ~ ABCD 'liT ~ ~ ~ ~ m A(-8, -1), B(- 2, - 4), 
C(4, ~ 1) r!2!T D(3; 4) ~ I 

Find the coordinates of a point P, which lies on the line segment 

joining the points A(- 2, - 2) and B(2,.- 4) such that AP = ~ AB . 
. 7 

OR 

Find the area of the quadrilateral ABCD whose vertices are 

A(- 3, - 1), B(- 2, - 4), C(4, -1) and D(3, 4). 

24. Rl<lfi.'Jftl(i futmr fi41Cfl{UI q;) X ~ fuQ: ~ ~ : 

x2 ~ 4ax - b2 + 4a2 = 0 

3ll!ICIT 

7.1fu: c;r >fi¥1 man 'liT ~ s rr2!T :!"1'141<.1 15 ~ .. ill ~ ~ ·~ 1 . 
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A hemispherical tank, full of water, is emptied by a pipe at the rate 

of 
25 

litres per sec. How much time will it take to empty half the 
7 . 

tank if the diameter of the base of the tank is 3 m ? 

OR 
: "' ' l 

A drinking glass is in the shape of th:e frustum of a cone of height 
14 em. The diameters of its two circular ends are 4 em and 2 em. 

Find the capacity of the glass. [Use 1t = ~~] 
. 7 

32. ~ r~ <.fir ~ ~ ~ it 3 q;11 ~ 1 '* N:or ~ ~ rr 1 ~ R<rr ~~ m r~ <.fil 

liR. I. q;11 ~ -;;nm ~ 1 fil:n;m ~ 1 
15 

~ 

zsoo f<li1:lt <il ~ <!fiT rr, m1if ~ ~ mrrr ~ ~ <il 1Ifrr q;11 i'li{ ~ '!{ 1 

~ a1Tmf'lfrr 100 f<li1:lt >rfu. tiGT q;11 ~ '« ~ <.fir tfi1<T 30 ~ ~ -;;nm 

~ l~<lfiT<.fil~~~~ I 

The numerator of a fraction is 3 less than its denominator. If 1 is 

added to the denominator, the fraction is· decreased by _!_. Find the 
15. . 

fraction. 

OR 

In a flight of 2800 km, an aircraft was slowed down due· to bad 
weather. Its average speed is reduced by 100 kmJh and time 
increased by 30 minutes. Find the original duration of the flight. 

33. '* f<fim ~ ~ ~ ~ 1 ~ <.fil ~ ns ~ am: >f2fli 11 ~ <.fir ~ 
714 ~~ ID ~ >f2fli n ~ <.fir ~ mcf ~ I 

30/2 

If the sum of the first 7 terms of an A.P. is 119 and that 'of the first 
17 terms is, 714, find the sum of its .first n terms. 

Prove that the tangent. at any point of a circle is perpendicular to the 
radius through the point of contact. 

16 
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